

# Board of Public Works and Safety Agenda Item

**Cover Sheet** 



TO: NOBLESVILLE BOARD OF PUBLIC WORKS AND SAFETY

FROM: JIM HELLMANN, ASST. CITY ENGINEER, ENGINEERING

SUBJECT: UTILITY AGREEMENT WITH IAWC - 141ST ST AND PROMISE RD ROUNDABOUT

DATE: DECEMBER 17, 2024

Attached is a utility agreement with Indiana American Water Company (IAWC) for work at the 141st Street and Promise Road Roundabout.

The project had reimbursable water line relocation work that was in the original bid and covered at 80% by the fed aid grant. During the project, IAWC requested some additional work to be completed and asked if we could have the contractor do it and they reimburse us. City and IAWC have a very good working relationship and we agreed to do the work. This agreement allows us to invoice IAWC for the approximately \$35,563.70 for reimbursement.

The \$222,577.78 is covered at 80% by a grant and included in the original bid and we already paid this amount to INDOT to award the bid. This is the standard INDOT template.

I recommend the Board of Public Works approve the agreement.

In advance, I greatly appreciate your consideration of this request.



## Exhibit of roundabout



# CITY OF NOBLESVILLE ROUNDABOUT AT 141st ST & PROMISE RD



February 2024 Standard Agreement Work in Contract CITY OF NOBLESVILLE UTILITY AGREEMENT

Agreement Amount:_	\$258,141.49	Des No:	2200126	
Agreement Type:	Reimbursement	Proj No:	2200126	
Work Description:	Utility Relocation	County:	Hamilton County	
1	& Promise Rd.	, <u> </u>	·	

This Agreement, made and entered into, by and between

Indiana American Water Company, Inc.

153 N. Emerson Ave

Greenwood, IN 46143

(hereinafter referred to as the Utility,) and the City of Noblesville, together referred to as the Parties.

#### **WITNESSETH**:

**WHEREAS**, the LPA desires to improve and/or maintain the condition of the above referenced road and has determined that the construction designated by the above project number (hereinafter referred to as the "project") is necessary for the improvement and/or maintenance of the roadway;

**WHEREAS**, the State of Indiana, through the City of Noblesville, (hereinafter referred to as "NOBLESVILLE") has agreed to recommend approval of this project to the Federal Highway Administration for construction with funds apportioned to the State under Title 23, United States Code and Acts amendatory thereof and supplementary thereto;

**WHEREAS**, the Indiana Department of Transportation will advertise for bids for contract R-44197 (DES 2200126) for construction of the project, award the contract, and act as liaison agent for the LPA with the Federal Highway Administration. The LPA will supervise the construction of the project.

**WHEREAS**, the project will require certain adjustments, removals, alterations and/or relocations of the existing facilities of the Utility as shown on the plan marked Exhibit "A", attached hereto and incorporated by reference;

**WHEREAS**, it is necessary for the parties hereto to comply with the applicable terms and provisions of the FHWA Program Guide: Utility Relocation and Accommodation on Federal Aid Highway Projects (hereinafter called the Program Guide), dated January 2003, and 23 CFR 645 Subpart A, incorporated by reference, in order to receive reimbursement for the costs of the adjustments, removals, alterations and/or relocations of the existing facilities of the Utility;

**WHEREAS**, it is in the best interests of the Utility and the LPA, for the necessary utility adjustments, removals, alterations and/or relocations of its existing facilities as shown on Exhibit "A" to be made by a contractor paid under the contract let by NOBLESVILLE.

**NOW, THEREFORE**, in consideration of the premises and the mutual agreements and covenants herein contained and the adequacy of consideration as to each of the parties to this agreement is hereby mutually acknowledged, and other good and valuable considerations, the receipt is hereby acknowledged and intending to be legally bound the Parties hereby covenant and agree as follows:

#### SECTION 1 – PREPARATION OF RELOCATION PLANS

The Utility shall prepare, or cause to be prepared, all plans, specifications and a preliminary itemized cost estimate, for relocation of the Utility's facilities that need to be relocated in order to construct the LPA's project. The construction contract will require the contractor, which is awarded the contract, to list the Utility as an additional named insured. In addition, the construction contract will provide that the Utility is a third-party beneficiary with respect to the relocation work. No changes to the plans or specifications for relocation of the Utility's facilities shall be made without the written approval of the Utility. NOBLESVILLE will prepare the final engineer's estimate for the construction contract.

#### SECTION 2 – AWARDING OF CONSTRUCTION CONTRACT

The Indiana Department of Transportation will advertise for bids for the project with the contract R-44197 which includes the plans and specifications for relocation of the Utility's facilities and the plans and specifications for the LPA's project. Upon receipt of an acceptable bid in accordance with State law, NOBLESVILLE will award a contract for construction of the work. The Utility agrees to have the contractor to whom NOBLESVILLE awards the contract relocate the Utility's facilities.

#### SECTION 3 – CONSTRUCTION TESTING AND INSPECTION

The LPA will provide, or cause to provide, construction inspection and testing services to monitor the contractor's relocation of the Utility's facilities. The Utility may inspect, at its own cost, the relocation of the Utility's facilities. The Utility shall timely advise the LPA, in writing, of any deficiencies that are observed. Prior to NOBLESVILLE's final acceptance of the construction contract, the Utility shall make an inspection of the facility relocation work and advise the LPA in writing of the Utility's acceptance thereof. Such acceptance shall not be unreasonably withheld.

#### SECTION 4 – SUBORDINATION OF RIGHTS

The existing facilities are located on public right-of-way. If such facilities are located on property, other than public right-of-way, and the Utility either has an easement thereon or a

continuing right to maintain the facilities in that location, the Utility, for and in consideration of this agreement, shall subordinate the Utility's rights herein to those of the LPA in the roadway right-of-way by executing an individual subordination agreement.

#### SECTION 5 – REIMBURSEMENT

- (a) 100 % of the cost to design and prepare construction plans, specifications and preliminary itemized cost estimate for relocation of the Utility's facilities shall be borne by the LPA.
- (b) <u>0.0</u> % of the cost to provide testing and inspection services for relocation of the Utility's facilities shall be borne by the LPA.
- (c) <u>86.22</u>% of the cost of relocating the Utility's facilities shall be borne by the LPA, see exhibit "B", attached hereto and incorporated by reference.

The cost of relocation of the Utility's facilities (provided for in (c)) shall equal the amount paid to the contractor based upon the actual units of work performed at the unit prices set out in the contractor's itemized proposal or in change orders.

The estimated cost of relocation is \$258,141.49, see exhibit "B" for an itemized estimate of all anticipated costs, including but not limited to, materials, labor, and equipment costs.

The estimated cost of non-reimbursable relocation work to the utility's facilities is \$35,563.70. The Utility has appropriated, duly made and entered of record, the amount of \$35,563.70 to apply to the cost of the project. A copy of the Utility's official record wherein such appropriation was made is attached as Exhibit "C", attached hereto and incorporated by reference. If the amount to be contributed by the utility is zero then no Exhibit "C" is attached

#### SECTION 6 – COMPLETION OF PROJECT

Upon final acceptance of the contractor's work (the construction contract), the Utility shall be responsible for maintenance, repair, and/or reconstruction of the Utility's facilities.

#### SECTION 7 – WAIVER

The Utility waives any claim, demand, or expectation it may have in the future against NOBLESVILLE and/or the LPA based upon any negligent omission and/or commission by the contractor performing the relocation of the Utility's facilities.

#### SECTION 8 – PAYMENTS

Within thirty (45) days after the execution of this agreement, the Utility shall pay the LPA a sum equal to one hundred percent (100%) of the Utility's share based on the estimate shown as Exhibit B. If the actual bid and/or Change Order is approved which increases the Utility's share of the project cost, the Utility shall pay the LPA within thirty (30) days a sum equal to one hundred percent (100%) of such increased cost. If the Utility's share is less than the amount the utility has contributed, then the LPA will refund the difference within thirty (30) days.

All payments shall be made in arrears in conformance with State fiscal policies and procedures and, as required by IC 4-13-2-14.8. Payment will be made by electronic funds transfer to the financial institution designated by the Utility in writing unless a specific waiver has been obtained from the Auditor of State. No payments will be made in advance of receipt of the goods or services that are the subject of this agreement except as permitted by IC 4-13-2-20

#### SECTION 9 – BINDING UPON SUCCESSORS OR ASSIGNS

This Agreement shall be binding upon the parties and their successors and assigns.

#### SECTION 10 – GENERAL LIABILITY PROVISIONS

The Utility for itself, its employees, agents and representatives, shall indemnify, protect and save harmless the City of Noblesville, the State of Indiana, and the LPA from and against any and all legal liabilities and other expenses, claims, cost, losses, suits or judgments for damages, or injuries to or death of persons or damage to or destruction of property (hereafter "Claim"), arising out of intentional tortious acts or whether due in whole or in part to the negligent acts or omissions of the Utility, its employees or agents or contractors, in relation to or in connection with any work performed or to be performed pursuant to this agreement, provided however, that where the State has been found liable by a court, tribunal or governing body entitled to make such a determination for intentional tortious acts and/or negligence with respect to the occurrence or occurrences giving rise to the Claim, the Utility shall have no duty to indemnify, protect, or save harmless either the City of Noblesville, the State, or the LPA.

#### SECTION 11 – INCORPORATION OF THE UTILITY POLICY GUIDE

The Program Guide forms an essential part of this Agreement, and the terms or provisions of this Agreement in no way abrogate or supersede the terms or provisions set forth in said Program Guide.

#### SECTION 12 – BUILD AMERICA, BUY AMERICA ACT

The Utility agrees that all steel, iron, manufactured products and construction material permanently incorporated into the project and used under this agreement will be produced and manufactured in the United States of America pursuant to the requirements of 23 CFR 635.410 and Infrastructure Investment and Jobs Act (IIJA, Public Law 117-58, Title IX-Build America, Buy America, div. G §§ 70901-52) on November 15, 2021, and Federal Memorandum M-22-11.

------ Remainder of Page Intentionally Left Blank------

IN WITNESS HEREOF, the parties hereto separately and severally have caused this instrument to be executed in their respective names by and through their duly authorized officers.

THE UTILITY:

(Utility Name)	
Mark H. Hele	12/4/24
(Signature of Officer)	Date '
Matthew H. Hobbs	
(Officer's Name, Printed or typed)	
Officer's Position)	
(Cilicol 51 colded)	
	gning and submitting this Contract electronically I tained therein. I understand that this Contract will
not become binding on the City until it has been	

------Remainder of Page Intentionally Left Blank------

## **CITY OF NOBLESVILLE**

CITY OF NOBLESVILLE, INDIANA

All of which is approved by the Board of F	Public Works and Safety of the City of Noblesville this 2024.
JACK MARTIN, PRESIDENT	
JOHN DITSLEAR, MEMBER	
LAURIE DYER, MEMBER	
ROBERT J. ELMER, MEMBER	
RICK L. TAYLOR, MEMBER	
ATTEST:	
EVELYN L. LEES, CLERK	

#### **Construction Costs**

ITEM #	REIMBURSABLE ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL	. ITEM COST
95	FIRE HYDRANT ASSEMBLY, REMOVE	EACH	1	\$1,635.67	\$	1,635.67
96	STRUCTURE BACKFILL, TYPE 1	CYS	235	\$174.87	\$	41,094.45
97	LINE STOP, 12 INCH	EACH	2	\$9,541.96	\$	19,083.92
98	LINE STOP, 16 INCH	EACH	2	\$13,044.48	\$	26,088.96
99	WATER MAIN CONNECTIONS, 12 INCH	EACH	1	\$8,726.53	\$	8,726.53
100	WATER MAIN CONNECTIONS, 16 INCH	EACH	2	\$8,407.90	\$	16,815.80
101	PIPE, STEEL CASING	LFT	20	\$117.00	\$	2,340.00
102	TAPPING SLEEVE WITH VALVE	EACH	1	\$26,951.14	\$	26,951.14
103	WATER MAIN, DUCTILE IRON, 16 IN.	LFT	260	\$105.31	\$	27,380.60
104	FIRE HYDRANT ASSEMBLY	EACH	1	\$4,114.79	\$	4,114.79
			TOTAL		\$	174,231.86

ITEM #	NON-REIMBURSABLE ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL	ITEM COST
96	STRUCTURE BACKFILL, TYPE 1	CYS	42	\$174.87	\$	7,344.54
100	WATER MAIN CONNECTIONS, 16 INCH	EACH	2	\$8,407.90	\$	16,815.80
103	WATER MAIN, DUCTILE IRON, 16 IN.	LFT	44	\$105.31	\$	4,633.64
			TOTAL		\$	28,793.98

#### **Material Costs**

REIMBURSABLE MATERIAL	UNIT	QUANTITY	UNIT COST	тот	AL ITEM COST
16" DI CL 54	LFT	260	\$ 135.52	\$	35,235.20
12 MIL Blue Poly Wrap (16"-18")	EA	1.71	\$ 281.09	\$	480.66
12" DI CL 52	LFT	20	\$ 72.84	\$	1,456.80
12 MIL Blue Poly Wrap (10"-14")	EA	1	\$ 227.72	\$	227.72
Sydrant STRZ YEL	EA	1	\$ 4,750.00	\$	4,750.00
6" Open Left Gate Valve	EA	1	\$ 1,015.62	\$	1,015.62
		<b>Materials Estimate</b>		\$	43,166.00
		12% Markup		\$	5,179.92
		Materials Estimate TOTAL			48,345.92

NON-REIMBURSABLE MATERIAL	UNIT	QUANTITY	UNIT	COST	TOTA	L ITEM COST
16" DI CL 54	LFT	44	\$	135.52	\$	5,962.88
12 MIL Blue Poly Wrap (16"-18")	EA	0.29	\$	281.09	\$	81.52
		<b>Materials Estimate</b>			\$	6,044.40
		12% Markup			\$	725.33
		<b>Materials Estimate</b>	TOTAL		\$	6,769.72

Total LPA Costs	\$ 222,577.78
Total Utility Costs	\$ 35,563.70
Total in Contract Costs	\$ 258,141.49